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5 Ooono

ogood
sin x sin(x)
CoS x cos(x)
tan x tan(x)
~000)]| PI
ogooooon
ooooo simplify()
ooooooooo combine(,sincos)
f(x) Osin0 cosO00O000 | rewrite(f(x),sincos)
fOtanO00ODOOO rewrite(f(x),tan)

on

sinx,cosx,tanx J 0 00O sin(x),cos(x)tan(x) I 00 0000000000000 0OO0OOOOOOOO
000 (rad) 0000 ()OD0DO0D0O0OO00O0ODOO0O0OD (yOOOO0OPIODOOOOOOOOOOOOO
120000000000000000000

0000000 10000000 10000000020 pPQOOOO0OO

(POQUOOO(MOODODOO)=0 POOODO
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-1 / ' -1 / \! ‘I: 4///\” -1 -\\%\
NEARNPARN VARN ¥

oo 1o oo 20 00 30 oo 4o

ooo,l0000oo 200,000 3400 180°=7TDDDD,9O°=%DDDDDDDDDDDALSC’:%

DDDDﬁW:%DDDDQW%D%{MMD,&Wz—%DDDDDDDDDDDDDDDDDDD
0000000000000 0000000000000000000000@O00000000000
ooooo)

51 OO0O0O0ODO

0D combine’ 00000000, 000000000° 0000000000000, combine()0000,a%-a”=a" 000
0000000 Orewdite D " 0000’ 000000 rewrite( ,exp)rewrite( ,ln) D0 00000 ¢0000000,00000
0000 (e000000)



00 O sin(90°),¢08(90°),tan(45°) 00000 000000000000000 90° = £ rad,45° = £ rad O
O0O0O000000O000O0O0oO

sin(%) a? e sin(PI/2); >> 1
cos (%) a? e cos(PI/2), >> 0
tan(%) a? e tan(PI/4), >> 1

0000000000 sin(90°) = 1,c0890°) = 0,tan(45°) = 1 0 0000000000000 0000O
00000,00000000000000000000000000000C0 Sin(x)00000000

x°=x><%80radDDDDDDDDDDDDDDDDDDDDDD

Sin:= x— > sin(x/180 x PI);

000 sin(60°) 00 0000000000000 0O0O

W
=

sin(60°) O ? e Sin(60); >>

[\

cos,tan 000000000
Cos := x— > cos(x/180 « PI);, Tan := x— > tan(x/180 * PI);

oo0o0oooooo ()oooooo

52 0O0O0OODO

000000000000 0000O0solve()D000OD000ODO0OODOODOOOOOODOOOODOO
¢Gyooooooo,0o0oooo %DDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
goo

(DHsinx)=10007 e solve(sin(x), x); >>1/2«PI+2« X1+ Pl|X1inZ_
00000000000 DO@OOOO0O00DD0D0D0O00O0)0O000O0 sin(x)=1000 %+2n7r(nDDD
yODODODOO0OOx000000000000 assume()??2 000000000000
(Q)sin(x)=1(00 x<2r)000000000000000000

e assume(® <= x < 2 x PI); >> [0, 2 * PI[ of Type :: Real

[02«PI[0,000000 2r 000000000000 fType:Rea’ 000000000 OCOCOOOO
oooood@P¥oox0000000000000000000000000000

e solve(sin(x)=1,x); >> %

e unassume(x);

U2 assume 0’0000’ 0000000000000 0O0D0O00O0O0OODODOOOODOD 20000000000000
U3 gooooooooo



0000000 2000000000000 unassume(x); 00000 x0000000 00 x<27200
00000000000 Y00000000000 x<2r000000000000O unassume(x);
goboobogoboooboobooooboo

(B)cos(x) =100 x<2m 00000000 O0O0OOODOOOO

e solve(cos(x) = 1,x); >> 0

000o0o0gooo ()0ooo0oo0o0o0o0oDooooo00ooo0oooo0oooooooDogoooon
goooooo

(4) sin(x+60°) =4+ (00 x<360°) 0007

60° = 17,360° = 27 (rad) 0 0 O

-3
. R 1 R . 1 1
sm(x+60)=3(0D x<360)<=>sm(x+?7r)=3(0ﬂ x < 2m)

O0o0ooooooo,MuPADOODOOOOOOOO

e solve(sin(x + PI/3) = 1/2,x); >> %, HT”
ogood
1 1 1 S 13 11
sin(x+ ?n)z 5 00 x<2n) = x+ ?71'2 %,Tﬂ = x= %,—6” « x =90°,330°

goooobooboooooboooobooobooobooboobbobboobbooooo

MuPAD [ sinx+cos’x=10000000000000000,

(5)2cos’x+5sinx+1=000 x<27) 0000000000000 0000000OOO0

e assume(0 <=x<2*PI); >> [0, 2 * PI[ of Type :: Real
11
o solve(2#cos(x) 0 2+5%sin(x)+1=0); >> {[x = %’r] , [x = T’r]}

O0Ocos?x=1-sin*>x0000

2cos’x+5sinx+1=0¢ 2(1 —sin’x) +5sinx+ 1 =0 & 2sin> x — 5sinx—3 =0
1
— (2sinx+ 1)(sinx—3) =0 < sinx = — 5 sinx =3

-10sinx0 1000

gooooboogoo

0000000ooo0ooo0o0oooooooooooogoooooooooooogg,MuPAD O
sinx +siny = 1

inx+ V3 =1 O
sin x cos x {cosx+cosy=\/§

gooooog

54 unassume(x) 00000 Odelete(x) 000000



53 OOOODO

oooooo MePADODOODOODOODOOOOOOOOOO

54 0O0O0O0O
00000000000000000expand)”>Y 000000

e expand(sin(x+y));
o expand(cos(x+y));

0000 simplify(), 0 00 combine( ,sincos) "  goooon
e simplify(sin(x)* cos(y) + cos(x) * sin(y));
e simplify(cos(x)* cos(y)— sin(x) = sin(y));
e combine(sin(x) * cos(y) + cos(x) * sin(y), sincos);

e combine(cos(x) * cos(y) — sin(x) * sin(y), sincos);

00000 expand() 000000

e expand(sin(2 * x));

e expand(cos(2 * x));
0000 simplify( ), 000 combine( ,sincos) D00 000
e simplify(2 * sin(x) * cos(y));
e simplify(cos(x)0 2 —sin(x) O 2);
e combine(2 * sin(x) * cos(y), sincos);

e combine(cos(x) 0 2 —sin(x) 0 2, sincos);

>> cos(y) sin(x) + cos(x) sin(y)

>> cos(x) cos(y) — sin(x) sin(y)

>> sin(x + y)
>> cos(x +y)
>> sin(x + y)

>> cos(x +y)

>> 2 cos(x) sin(x)

>> cos(x)? — sin(x)?

>> sin(2x)
>> cos(2x)
>> sin(2x)

>> cos(2x)

O00000000000000Osinx+ V3cosx=1000000O000F?

55 O0O0OODOODO

000000,00000000000000000000D00000 casebycaseJO0OOOOOOO
MuPADOOOOOOOOOOOOOO0O0O0O0O0O00O0O0O0OOOOO, combine(,sincos), rewrite(,sincos),

rewrite( ,tan),simplify() 00000000

U5 gooo0o0o0oo0o000ooooo

06 combine O, e combine(a* xa¥); >>¢¥0000D0°000 1000000°0000000000

07 OOOMuPAD D z=x+iy(x,y00)000 argz0000 argx,y) D00 0000000000000 000,000000

gooooooobo,000ooooooooooooooooooo



combine( f(x),sincos)y — 0000000000 0O00O0O
rewrite( f(x), sincos) —sinOcos000O0O0O0OOO
rewrite( f(x), tan) —tan0 00000000

combine 00000000000 0OOrewriteD simplify 000000000

1

o simplify(1 + 1/tan(x) O 2); > W +

simplify 00 0000000000000 Orewrite 00 000sin0cos000000O0O0ONO

1 2
e rewrite(1 + 1/tan(x) O 2); sin(x)

cos(x)?

O000sin0 cos0000000000O0O00O0O00O simplify()0O00OO0OD0OO

1

e simplify(%); g cos(x)?

U0 tan 0 O0OO0OOO0ODOOO

((tan 72+ 1)2
e rewrite(1/ cos(x) O 2); >> = 7 D

(1 - (tan %)2)2

O0000tns 00000000000,

X , X .2 X COSZ%—SiHZ%
cosx =c0s2-|=|=cos” — —sin” = = ———>—
2 2 2 cos? & +sin” &
ogoooooooon COSZ%DDDD
2 x
Sll’li
T 1 —tan* £
cosx = —— = T
L 1 +tan* 5
cos? 5
Ooo@oOoooooooooooooog
0 8)
08
sinx0 000000
sin%
) ) X x X 2sin 5 cos 5 zcos% 2tan 5
smx:smz-(—):Zsm—cos—: = —— = T
2 2 2 cos’ ¥ +sin® 5 L 1 +tan?
cos? &
DDDDtan%:tDDDD
sinx:%
1-12 --(00)
cosx = 175

DDDDDDsinx,cosxDtan%DDDDDDDDDD



000 sin®x+cos’>x00000000000

e rewrite(sin(x) O 2 + cos(x) O 2); >> sin(x)” + cos(x)?

rewrite ] 000 0000000000000 0O000 sinOcosO0000000O0OODOODOSsimplify O
gobooobooooboooooo

o simplify(sin(x) O 2 + cos(x) O 2); >> 1

gobooobooboboooobood

56 0O0OO

000000o0ooooo0,00o0o0g0ooo MelPADOODOOOOODOO0O0OOO0OOOOODOOOOOO
00 sinx+cos?x=100000000000? 00000 @00000000000)000000
0000000oo00oo00ooooooooooooooo0 MuPADODOOOOOOO,00000O
gooooooooobooob (obobobooobooobo)yboob,D0bobobooboobOoo
goo



